A & 0l & AF S E M A
SA: JIH2AA
Ha: #H2HAY (D=2 AA) (OIEHIIEH
cHol: ol Y| (B9 &2
SA BB H(BH) - MBAY - B2 Of) & o I o HRs2
D=2 AL 9,204,047 8,298,470 905,577
=2 72,679 0 72,679
= 203,164 203,340 A1T6
2 8,928,204 8,095,130 833,074
#HSAAY (D12 A (JIEHIIE) 86,977 9,704 ~9,727
oz 2 oyl 19,005 21,180 A2,175
ozl 2 oyl 19,005 21,180 A2, 175
203 R =AY 7,125 7,500 ABT75
01 J2eIAREAY| 3,135 3,300 A 165
OJIBSIAREAY HAEDE  -165,0008 A 165 0 A 165
04 BASIARETY| 3,990 4,200 A210
ORNSYALEFY AL 210,000 A210 0 A210
204 HPLAY| 11,880 13,680 A1,800
03 SHALLH TS| 11,880 13,680 A1,800
ogegy TR 2 0 0 1,800 A 1,800
Jl2Z 4l 67,972 75,524 AT ,552
Jl22Z | 67,972 75,524 AT ,552
201 Y2yl 35,230 39, 144 A3,914
01 AFR 22/t 33,610 37,344 ~3,734
OARZ2IH| AR -3,734,0002 A3,734 0 A3,734
02 2ZE2YHl 1,620 1,800 A180
OZIZ2gY| HuRLE ~180,0002 A180 0 A180
202 01| 32,742 36,380 ~3,638
01 ZUj0dHl 32,742 36,380 ~3,638
O=Uoll HlaE2E -3,638,0002 ~3,638 0 ~3,638
THSS U IFH(YVTTUN/AHT) 1,082,260 1,168,400 86, 140
= 3,164 3,340 A1T6
2 1,079,096 1,165,060 85,964
o=l 2 Bt 91,705 96,950 A5, 245
DAY U EH 66, 160 70,900 A4, 740
201 Y2 Hy| 32,760 36,400 A3,640
01 ALR2relH] 32,760 36,400 A3,640
OMRZ2IYl aE2E -3,640,0002 A3,640 0 A3,640
202 OfH| 7,200 8,000 A800
01 =Uj0dHl 7,200 8,000 A800
ORI Ha=LE ~800, 0002 A800 0 A800
203 Y=Y 3,800 4,000 A 200
INEESSEEES I 3,800 4,000 A200
ONMERALEFY AL  -200,0002 A200 0 A200




SNBSS - MBAY - BES 01l &4 24 pJE-1 {imE=Eh
301 et a= 900 1,000 A 100
10 ALAHIE &= 900 1,000 A 100
OdMAHIEAS HMETE -100,000& A 100 0 A 100
ot & dutzel 25,545 26,050 A 505
201 YEH2HH| 3,645 4,050 A 405
01 AtR22itl 3,645 4,050 N405
OAtR2eld HaEZ=2 -405,000& A405 0 2405
301 et as 900 1,000 A 100
12 JIet24a=3 900 1,000 A 100
OJletEd=S MaEz = -100,000& A 100 0 A 100
AHME2E 301,745 341,523 N39,778
NEHE2S 277,730 302,700 A24,970
201 et S| 48,330 53,700 A5,370
01 At 2t2lHl 38,430 42,700 A4,270
OAtR22/dl B ZE -4,270,000& A4,270 0 N4,270
02 2323l 9,900 11,000 A 1,100
OZ2322Hl 2L -1,100,000& 21,100 0 21,100
202 O4dl 171,000 190,000 A 19,000
01 WA 99,000 110,000 A 11,000
O=2UAHl oaE2= -11,000,000& A 11,000 0 A 11,000
04 =Xs0dbl 72,000 80,000 /8,000
O=HMztodl oaEZE -8,000,000& 28,000 0 8,000
203 R4l 5,700 6,000 A 300
03 AMF=XHLFEH| 5,700 6,000 A 300
OAMF=IAL2FAYH| OlatE2ZE -300,000& A 300 0 A 300
301 LptEasg 2,700 3,000 A 300
10 HAIAHIEA S 2,700 3,000 A 300
OdAAHIE &z taE2=2 -300,000& A 300 0 A 300
NEHE 2l A A SN2 24,015 38,823 A 14,808
403 X SHMSAH20lH 15,314 30,122 A 14,808
02 BI12SOCHEHCHE A I 15,314 30,122 A 14,808
OXNEHESE BAEAE 02 0 14,808 A 14,808
dHYSE & HUNER 161,715 169,377 NT,662
S 3,164 3,340 VAR V(G
= 158,551 166,037 AT,486
MEALR =8 L XA 2el 132,292 135,680 A3,388
201 LEH2HH| 27,342 30,380 A3,038
01 AtS2t2itl 27,342 30,380 A3,038
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12 AL
U PHES ¥ XH(YUBTUT/LUHE)
Sl MEME L HEYR L]
SN -EHH . (B) - MPAY - BE2 O &t 04 7|5 o HRE2
OAtR22/dl s ZE -3,038,000& A3,038 0 A3,038
202 044 3,150 3,500 A 350
01 WAL 3,150 3,500 A 350
O=UAHHl oaEZ = -350,000& A 350 0 A 350
25 SHAZAL E =2t 16,809 18,357 A 1,548
201 LetEE] 12,139 13,487 A 1,348
01 AtS 22l 12,139 13,487 A 1,348
OMBH2IH HaE2E ~1,348, 0002 A1,348 0 A1,348
202 O4dl 1,800 2,000 A 200
01 WY 1,800 2,000 A 200
O=LoHl HaES=2 -200,000& A 200 0 A 200
28 ASIZA 3,164 3,340 A176
S 3,164 3,340 A176
101 el 24| 209 220 A
= 209 220 A
04 JIZHMIZ2XNSE =+ 209 220 A
OB MESHIA U2 M8 oIyl
40,7503 *1Z 52 *1.025 209 220 A
S 209 220 A1
201 LetE2El 2,955 3,120 A 165
S 2,955 3,120 A 165
01 AtE22lHl 2,955 3,120 A 165
OdY MIISHZA(EZ) 42,6902 *13H «5 2,775 2,904 A 129
= 2,775 2,904 A129
OZY MISHEIMN ZME MRSE|
2,400 x15H+55 180 216 N 36
= 180 216 A 36
ZE 2 A A 9,450 12,000 A2,550
308 XX HHSOIA 9,450 12,000 A2,550
05 XMXIEM2ARES 9,450 12,000 A2,550
ORFSHALLS GAR2AS 2,550,008 A2,550 0 72,550
SAIZ =g ¥ RIHEX 15,415 16,850 A1,435
HIIIB BARY 15,415 16,850 A1,435
201 LEH2 | 5,715 6,350 A635
01 AtE22lH] 5,715 6,350 A635
OAMSR2telHl HaEZ2 -635,000& AB35 0 AB35
202 Oddl 7,200 8,000 A 800
01 2UHAHYI 7,200 8,000 A 800
O=HoiHl a2 ~800,000%! A800 0 A800
T ZEELLS 511,680 543,700 A 32,020
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12 AL
Ny PHSE Y EF(YUBTUT/AHE)
©el PEEL Y5 crol: 3 2
SN -EHH . (B) - MPAY - BE2 ol [ =)e HRE2
olZAA o DR 304,640 338,100 33,460
201 Let2d| 278,190 309, 100 230,910
01 AtE22|HI 272,898 303,220 A 30,322
OAMSR2telHl HaEZE2 -30,322,000& A 30,322 0 A 30,322
02 2323l 5,292 5,880 A588
OZTZ2ZHl HaELE ~588, 0002 588 0 A58
202 O4Hl 10,800 12,000 A 1,200
01 WY 10,800 12,000 A 1,200
O=U0oHl taES=2 -1,200,000& A 1,200 0 A 1,200
203 ¥R =& 6,650 7,000 A 350
03 AZFXHRFAH| 6,650 7,000 A 350
OAM=XHL=LH O & -350,000& A 350 0 A 350
301 et as 9,000 10,000 A 1,000
12 JIEtE A3 9,000 10,000 A1,000
OJIetE4a =2 HaEHE -1,000,000& 21,000 0 A 1,000
CF Mz & =28 8 167,040 185,600 A 18,560
201 et 167,040 185,600 A 18,560
01 AtS 22/l 167,040 185,600 A 18,560
OAMSR2tlHl HaEZ2 -18,560,000& A 18,560 0 A 18,560
TV HAIE A 40,000 20,000 20,000
401 Al&HI LS04I 40,000 20,000 20,000
01 Al&H| 40,000 20,000 20,000
OTVEAIE oA 5,000, 000& *8km 40,000 20,000 20,000
TSNS (ZELXSML/RNSLEA) 4,500,000 3,500,000 1,000,000
FRIAHOAY 4,500,000 3,500,000 1,000,000
FOMBHASTAY 2,300,000 2,000,000 300,000
401 AlEHIZ S ThYI 2,300,000 2,000,000 300,000
01 Al&H| 2,300,000 2,000,000 300,000
O272 THOHOMIZAE 50,000,000 * 1994 AHS 950,000 650,000 300,000
AL F0 =AY 2,200,000 1,500,000 700,000
401 Al&HIZL=RCHYI 2,200,000 1,500,000 700,000
01 AlZHI 2,200,000 1,500,000 700,000
O2P2 X0 =AY
50,000,000 *44 1 At S 2,200,000 1,500,000 700,000
ollglal(olglgl/alglbl) 2,600,545 2,599,105 1,440
= 200,000 200,000 0
= 2,400,545 2,399,105 1,440
CEIE 2,600,545 2,599, 105 1,440




A I EZAE

ool oiislel/ogigl)

el olidisl (el =@
SA-EFH - SA(SAH) - MREAY - BES Off &F OH I8N BlusZ

s 200,000 200,000 0

= 2,400,545 2,399, 105 1,440

ollglyl 2,600,545 2,599,105 1,440

= 200,000 200,000 0

= 2,400,545 2,399, 105 1,440

801 0ilHlbl 2,600,545 2,599,105 1,440

= 200,000 200,000 0

= 2,400,545 2,399,105 1,440

01 olglyl 2,600,545 2,599,105 1,440

oollgldl 2,600,545,000& 2,600,545 2,599, 105 1,440

= 200,000 200,000 0

= 2,400,545 2,399,105 1,440

HRESOIEZTAIA ) (LSS HE/THE - 2 8) 614,265 614,261 4

= 72,679 0 72,679

= 541,586 614,261 NT2,675

RSN 614,265 614,261 4

= 72,679 0 72,679

= 541,586 614,261 AT2,675

NELEA 28 Xtz & 496,260 496,260 0

= 72,679 0 72,679

s 423,581 496,260 AT2,679

311 Xt =0l Atatat 496,260 496,260 0

= 72,679 0 72,679

= 423,581 496,260 AT2,679

04 SLERXNLS0IX & 496,260 496,260 0
OXNZnEA 28 JITHOI X

8,271,000, 000& *6/100 496,260 496,260 0

= 72,679 0 72,679

= 423,581 496,260 AT2,679

=EH EX3 BtE= 5 1 4

802 Etet=DJIEt 5 1 4

02 Al - EHIEBXZEte3 5 1 4

02009 Be=sHII=2SH XA 4,000& 4 0 4




